S EHBEE Simple interest

Name - Starttime- _ . End time-_

Solve the following.

How much will Rs. 25,000 amount to 1n 2 years at C.1, if the rates
for the successive years are 4% and 5% p.a. respectively?

1. Rs 27300 2_Rs. 27.000

3. Rs. 28,000 4.Rs. 28,300

The population of a town had decreased 2% in 1999 and 3% in
2000. What was the population of the town at the begmnning of
2001 1f 1ts population at the begmning of 1999 was 45,0007

1. 40,000

2. 42,000

3. 43,777

4. 42,777

The present price of a scooter is Rs. 7,290. If its value has
decreased every year by 10%, then find its value 3 years ago.
1. Rs. 8,000
2. Rs. 9,290
3. Rs. 10,500
4. Rs. 10,000

Find the sum of money which will amount to Rs 3. 630 in 2 vears
at 10% p.a. compound interest.

1. Rs 3,600

2. Rs 3,500

3. Rs 3,300

4. Rs 3.000

A sum of Rs. 48,000 1s invested for 3 years at 10% per annum
compound interest. What 1s the sum due at the end of the second
year?

1. Rs. 58.000 3.Rs. 32.873.50
2. Rs. 58,080 4.Rs. 48,000
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